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No.0 — 0.50 — —
No.0+2.0 2.00 0.80 0.65 1.3
No.0+8.0 6.00 0.40 0.60 36
No.0+14.0 6.00 1.00 0.70 4.2
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@)
No.0 — 0.00 — _
No.0+9.0 9.00 0.10 0.05 0.5
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No.0+3.5 20 1.80 1.85 37

A

3.5

6.6




FELIHEHES

&% ™ #RL INRUE R
#BERL
A = 28 B (m) HiE (m2) |[FHEEEmM2] K E(m3) 3
No.0 = 1.10 — —
No.0+1.5 15 1.10 1.10 1.7
No.0+3.5 20 1.00 1.05 2.1
& 3.5 3.8

A




%3'-%

OB ERLMET

il
2
EHHH
Il

A R 2 Al E_El Bt B+ | BAI|
&t niE
BT T
EELT
PERET
PRIE (7)) = 6.6 m3
R D = 3.8 m3
EEISE = 6.6 m3
BErEE = 3.8 m3
i 1B
TEMERB(LR)/09= 42 m3
RIUELEEE = 24| m3




MR NEYE HRBEEE 1ERTHY
b3 -
23
EBRa
RC-40
]00I 650 I]00
850
AL FRie B =
avo)—k (0.20+0.65) *1/2%1.0%3.0
18-8-40
m3 1.275
B
(1.097+1.0)%3.0+(0.2+0.65)%1/2%1.0
m2 6.716
HBERR 0.85%3.0
RC-40
t=200
m2 2.550




1
oK T % %
FE A WO ST B i B
LSRG T
N B 70 L m’ 2.3
ERTER
zE AR T Ay t=40mm | m? 5.8
| J A RM-30 t=100 m’ 3.4

NEES RC-40 t=150 m’ 3.2




PR i AR IE 2% (50mm) L AR TR
(m) [&EE M Y R [BEA M Y FEGe) [ RS W) T R E) | BKEW T B )
NO. 0 1. 00 0.97 0. 92
+ 3.5 3.50] 1.00 1. 00 1. 00 3.50 0.97 0.97 3.40 0.92 0.92 3.22
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No.0-2.8 — 0.00 - -

No.0 28 0.00 0.00 0.0

No.0+13.0 13.0 0.10 0.05 0.7

No.0+21.0 8.0 0.00 0.05 04

No.0+23.0 20 0.00 0.00 0.0
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No.0 — 1.00 — —
No.0+3.00 3.00 0.80 0.90 2.7
No.0+7.10 4.10 0.60 0.70 2.9
No.0+7.45 — 0.55 — —
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